Potencias de 10 (H)

5.3417-+-0.01

4.3156+0.01

5.3785+0.01

8.372+0.01

4.6037 +0.01

6.8916 +0.01

6.5562 +0.01

3.9249 = 0.01

1.0875+0.01

4.4288 +0.01

Calcule los siguientes cocientes.

1.7035 +0.01

7.8325+-0.01

2.9639 +-0.01

3.2532+-0.01

5.1893 +-0.01

4.4434 +-0.01

7.5649 +0.01

3.921+0.01

9.3368 +-0.01

4.506+0.01
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Potencias de 10 (H) Respuestas

5.3417+0.01
534.17
4.3156+0.01
431.56
5.3785+0.01
537.85
8.372+0.01
837.2
4.6037-=-0.01
460.37
6.8916+-0.01
689.16
6.5562 +0.01
655.62
3.9249 = 0.01
392.49
1.0875+-0.01
108.75
4.4288 +0.01
442 .88

Calcule los siguientes cocientes.

1.7035=0.01
170.35
7.8325-0.01
783.25
2.9639+0.01
296.39
3.2532+0.01
325.32
5.1893 =0.01
518.93
4.4434 = 0.01
444.34
7.5649 = 0.01
756.49
3.921+0.01
392.1
9.3368 = 0.01
933.68
4.506+0.01
450.6
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